
	The assets that my business has are hair spray, shampoo, conditioner, barbicide, combs, brushes, gel, mousse, hair clips, scissors, curling irons, hair color, bleach, hair dryers, flat irons, mixing bowls and tint brushes.
	The liabilities that my business has is that you could get chemical burns or get cut from the scissors or razors used. You could also get burned from flat irons, curling irons, and other thermal devices. 
	Some of the values that we had to estimate were inventory and retained earnings. Inventory is estimated because you could run out or get a surplus amount of supplies and the shipping rates and prices of the supplies could go up or down. Retained earnings is estimated because the prices for salon services could decline or raise and thee amount of customers that you see could also change. 
[bookmark: _GoBack]	My business is profitable because the total assets and total liabilities plus equity both equal the same number. The number is also not low and is not a negative number. 
